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B Tech VI-Sem. (Maln/Back) Exam., Aprll/May-2016
S Computer Science & Engmeermg L

6CS1A Computer Networks
RIS C‘S 1T |

'-'_"Tot'e!'__lio. _of _Page_s.:_: E [

TlIlleBHours '- __-.; ' e Mammum Marks 80___--"}' T
Mm Passmg Marks (Mam&Back) 26 Vo
_-':Ins#aeﬁoas to Candldates- T e

Attempt any f ve questlon.s; selectmg one. questwn from each unit, All R
R -'_'_"f'-:'f._:Questrons ‘carry. equal marks Schematrc ahagrams ‘must be shown G

RS wherever necessary Any data you feel mzssmg may sultably be assume d T
_':'andstatedclearly : e e :

e " Units. of quantmes used/ calculated must be stated clearly

"""'.'::Use of followmg sapportmg materlal lS permttted durmg exammaaon |

S '_-(Menttoned mform No 205)

Q1 @

Q1 "("'_‘e)f

UNIT-I

What do you understand by routmg‘? Explam the cla351f1cat10n of routmg . '
: -._-.'_algorltbms :"f B L R :_ '. R

by (b) Dlscuss shortest path routmg algor;lthm w1th help of sultable cxample _ {10] o

Dlscuss the reason of congestlon ina network Also d1scuss Lea.ky bucket and i

._-'Contrast between dlstance Vector and lmk state routmg after (hscussmg both [8]

. Pagelofd

_.Token bucket algonthms 1n detaﬂ : '_ _-3"1'_3_'_-.:_#_"[8] o ST
o



Q2

@
o

0.3

Q3

';Qt

B Q4

@
EEE f-.--j:.'-' Explam by sultable example
B 'SUPPUTtmIPV‘l : - '_ S SREDETTE : _': [81

(@)
)
T "and De multlplexmg with help of sultable dlagram i S & [8]

)

'(a)

-State the concept of tunnehng Under What practlcal c1rcumstances 1t 1s used?'

DISCU.SS classes of IPV4 Also explam prov1slon of multlcast and broadcast

3_:Wr1te short note on followmg RPN SR .' [8><2=16]
PVAVSIPVE I e
' Moblle_ :

UNIT EII

erte a techmcal note on ﬂow control and buffermg ' T g L [8]

Explam the need of multlplexmg at transport layer Descnbe the mu1t1plexmg o

OR

Differentlate between a rehable and lossy channel Also derlve relatlon between

- [channel and b1t ertots. (Take your own assumptlons) L ' [8]"

Descrlbe UDP protocol and 1ts apphcatlon in DNS o - o . R 181

UNIT IV

Draw and explam TCP Header and segment structure e s _' = .[16] |

Dlscuss the TCP connection estabhshment and release.- N S '[_8']

erte a techmcal note on TCP congestlon control 5.1_ e [8]
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'_Q.S_(a) What is: Network Secunty‘? EXplam the Pl’lnmple S of Network S urlty _Also

'.__:dlscuss the Vanous challenges 1n 1mp1ementat10n of securlty -'1n computer._
""-network L L _' :_ S :_ i :
(b) Draw and explam Domam Name System (DNS) record structure

-_Q 5 erte short note on:- :' o
(a) World Wlde Web (WWW)
(b) Fﬂe T ra:usfer Protocol (FTP)

o emeozy o Pagesors
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: 6E6022 LR o
B Tech VI-Sem. (MamlBack) Exam., ApnllMay-ZOlG_ o
o Computer Science & Engineering R
6CSZA DeSIgn and AnalySIS of Algorlthms .
- CS IT o

. In_stfuctions to Cdndidates:.j— 5

Mlll Passmg Marks (Mam & Back) 26

: __Attempt any ﬁve questwns, selecnng one quesnon from each umt All
S Quesnons carry equal ‘marks.” Schematic dtagrams must ‘be ' shown

wherever necessary Any data you feel m:ssmg may suttably be assumed |

- and stated clearly.

- Umts of quanttttes used/ calculated must be stated clearly

Use of followmg supportmg materlal zs penmtted durmg exammatwn
"'-'-'.=(Menn0ned in form No. 205) | R | |

1NIL

Q.1 (a)

(b)
(<_:)

[6E6022]

UNIT I

Solve the recurrence relatlon for tlme complex1ty e - [4]

T(n)=_2_.'_._.'_ 1fn 2

'T(ﬂ) —2T(n/2)+3n lfn>2 SN E e

Explam varlous types of asymptotlc notatlons in detall o e - 4]

'I]lustrate the 0perat10n of mcrge sort on fo]iowmg array 10 20 5 23 45 34,12,

| Also write the algonthm& 1ts complexuy i__ :_'-:::: :_ ) .- 18]

Cgets o mm



Q1 @
: - how isit better than ordmary matrix muitlphcatlon el 8]
®)

W@

hxplam Stassen s mattix mult1phcat10n & derlve 1ts complex1ty also? Just1fy-

Explam Prun § algorlthm for fmdmg minimum’ spanmng tree. - [8]
o UNIT-II !

What s Dynamle programrmng‘? How it gives “the optlrnal solutlon‘?

...;..Consuiern 3 CODSIdeI‘M 6 (Wl w2, w3)=(2,3,3)

GLP2p3) =(L24)

Fmd optlmal solqun for glven knapsack problem - ) [8]

)

Explam Matnx cham muluphcatmn Also fmd the parenthes1zat10n for the'

B fO]lOWlng matrlx Al 15><10 A2= 10)(20 A3= 20><25 S [8]

Q2 ()

(b)

Q3 ()
(b)

(oR6022]

ok

Suggest an approxmlatlon algorlthm for travehng sales _person problems usmg'

‘minimum spanning tree algorithm, Assume that the cost functlon satisfies the

triangle 1nequahty o o ' S . 8]
What is backtracklng‘? Explam 8 queens probIem also write algonthm for the .

E)iplain Naive string matching .algo'ri'thrn.li'sih'g' suitable exaﬁnpie';' AR " [8]

Solve the given as sigmnent'oroblem by branch and bound mefhod:.'-:'- S [8]

JobI —TIob2  [Job3  [Jobd |

Pesonl 19 |2 |7 |8

“[Personl . |6

' .Personl 5 ._ 8 ; : 1 8 EENE =
7 6 2 14

_ _PefSOn 1

: page 20f3 L [7140] :



o3
B

. Q4

-Q.s |

@

@ |
PR '._Monte Carlo. algonthms w1th sultable examples o Pt [10] S !

(@ o
R ?'_prove the Ford Fu]kerson s theorem N :-_ '::__. [8] Sl
w

@
e

@ -

UNIT-IV

What do you mean by randomrzed algonthms Explam Las Vegas algorrthms and; : :

'Explam Flow shop schedulmg Wlth smtable example : ::.:::'_.':..: i " ;- [6] e

'-Descnbe problem def1mt1011 of Multlcommodrty ﬂow m the network State and'::':'_:_"::-._;’_ :

:Explam Randomrzed min eut theorem wrth su1table example O [8] Foiay

UNIT-V

"Explam NP Hard and NP Complete Wlth example : - i [8]

'Explam the Cook’s theorem wrth sultable example . 8]

':Prove that Hamllton cycle problem is NP complete '_3 i _.3_'2::;;'_ [8]
-_ Explam Approx1matron Algonthms for Vertex and Set Cover problem:.: 8 [8] : o

Explam Boyer Moore Algonthms w1th surtable example : [8]

Explam the Quadratrc A531gnment Problem W1th sultable example_."_ :
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' 6E6023 | | -uc-T‘
B Tech VI-Sem (Mam/Back) Exam., AprﬂlMay 2016
| -Computer Science. | |
6CS3A Theory of Computa_tlgn_ .
~ Common for IT

Time: 3H0urs _. et A Mammum Marks: 80 ,

Instruca‘ans to -Cahdidates:- _

Mm Passmg Marks (Mam & Back) 26 .

S __"-Attempt cmy five quesnons, selectmg one. question from each umt All
- Questions  carry . equal marks Schemattc dzagmms must be shown

wherever necessary Any data you feel mzssmg may smtably be assumed

:_and stated clearly.

& Umts of quantmes used/ calculated mustbe stated clearly

Use of followmg suppomng materzal is permmed durmg exammatlon .
(Men_t_zoned_m form No. 205). o= '

Q1 ()

UNIT-I

= ({ql q2 q3} {0 I} 8 ql {q3}) is nondetermlmstlc ﬁmte automaton,

‘_ whereﬁ_;s gl_ven.by S : _ ‘:' | _' ' . 181

SGLO= @) Bl {ql}

(b)

[6E6023]

8 (g2, 0= {ql q2} 8(q2 1) o
g (q3 0) ={q2} 83, = {ql q2}

: Construct an equwalent DFA

Explam the model of a d1screte automaton also descnbe 1ts charactenstlcs : [_8]

et e



'Ql @

e OR
Descnbe the block diagram of a ﬁmte automaton Con31der the transmon system

- given below

Determme the 1n1t1al states, the ﬁnal state and the acceptab111ty of 101011 and
| 111010 'f : RANEAER .' ) s

(b)

Prove that for any transmon functlon 5 and for any two 1nput Strmg X. and y.

.ﬁ@wpaoomw 'I--»;_ﬁ;xug-.a_m

Q2 @
®)

Q2 (@

(b)

[6E6023] -

| | UMH{[_ i
IFG = ({S}, {0, 13, {S = O SL S — A}, S); find L (G) with explanation. ~ ~ [8]
Find the language generated by. the grammar S —> AB, A = A 1/0 B - 2B/3
Can the above language be generated by a grammar of h1gher type‘7 (8] |
Prove that B
(1+00* 1)+(1+00*1) (O+10* 1) (0+10*1) 0* 1 (0+10* H*  [8]
Consider a finite automaton Wlth A= moves glven in a figure N

Obtain an equivalent automaton w1thout A - moves L ._ (8]

' —>{ gl

Page2of4 . . [e8so]



UNIT III

Q 3 Defme pushdown automaton model and 1ts role also 111ustrate the move relatlon 1n B

detaﬂs e = i T i [16]
Q3 (a) Cons.lder the followmg productlons : : [8] R
= s+aBmA _,“_.'7'””:””” R T
A——)aS IbAAIa R
 BobSIaBBIb. T
:."l_"_forthestrmgaaabbabbba ﬁnd ;
() the leftmost denvatlon o S
(11) the nghtmost denvatlon, and -Z T’j
| .:. : (111) theparsetree I l_ | S PRI
| ._(b):":-.:Reduce the followmg grammars m Chomsky normal fonn [8] o
o '() S —1A|0B, A—)IAA|OSIO B—aOBB‘ISlI G
_'(11) G ({S} {a,’o c} {s -—>a|b|cSS} S
- '.""(m) S —>abSbIaIaAb A ->bS|aAAb

UNIT-IV

Q4 (a) 'Explam Tunng machme model and 1ts workmg fl.lIlCthIlS . : i » : | [8} .. S

(b) . Cons1der the TM descnptlon below Draw the computatlon sequence of the 1nput '_ o

. ke Prese_nt._State TR S .'-:T_apezsy'mb_ol SITRIITAE
{=q . . 1Lg2- . ORgl . o po
@ b Rg3 -~ 0Lg2 - 1Lg2 |




oR

Q4 Design a Truing machine over {1, b} which can compute a concatenation function
- over Y, ={1}. - e - o

If a pair of words (WI, w2) is the input, ﬂi'e'loutﬁiit' hastobe wl w2, [16]

UNIT-V

Q.S Explain the model of Linear bounded automaton, .a.l'so; explain the 'relé.tionship between
LBA and context sensitive languages. B R N [16]
Q.5 Write short note on (éiny 2) _ R [8x2=16]
(a) Chomsky Hlerarchy of languages _ A
b) - Propertles of LBA B

() Context SBIlSltIVF.‘. languages

[6E6023] . . DPagedof4 . - [6e880]



— 6E6024ﬁ* S |
B Tech VI-Sem (Mam/Back) Exam., Aprll/May-2016
- Computer Science -
6CS4A Computer Graphlcs and Multlmedla Technlques

E Tlme 3 HO“rS o o S S

: Mm Passmg Marks (Mam & Back) 26_ o

S -J-Attempt any ﬁve questzons, selectmg one questton from each umt All o

ik ﬁQuestlons carry equal marks Schematlc dmgrams ‘must be shown" 2
i wherever necessary Any dam you feel mtssmg may suzmbly be assumed_. o |
3 andstated clearly L U e e -

o Umts of quannues used/ calculated must be stated clearly

Use of followmg supportmg marerzal is. permzrted durmg exammatzon o
'_-"_'-_S(Mentwned mformNo 205) B SN R '

LN

(11) :ﬂiCkéﬁng : : TR

' (111) mterlacmg

EXplalnthe foliowmg terms 11_1_-_;:_0111_cxt ofdlsplaydewces ol
B PI

- 3"'_(1v) refreshmg : : .' '_ 5 ::::_.f’.'::_ - [2] __

3:_':-between end pomts (21 12) to (29 16) | _ : [8] Lt

'.fGo through steps of Bresenham s lme drawmlg algorlthm for the hne segment .

Maxnmum Marks 80 |




S ("5):”:3

Q2

03

Q3

3 Q4

(a_i')"

@
_(b)._. |
: (b)
@
()
©)
(@)
®)

<_a'>'

D1fferent1ate between Raster and random scan dlsplay dev1ces o _- _' _.::;.[6}_. .

EXPIam beam penetratlon method S

What is unportance of 8 way symmetry 111 scan conversmn of c1rcle‘? i : [4]

UNIT II

Derlve compos1te transformanon matrix of translatron followed by reﬂectron [8]" e

Descnbe Cohen Sutherland 11ne cllppmg algorlthm - S . - 5 ‘[8] _

OR

_'-leferentrate between boundary ﬁ]l and ﬂood ﬁll technlques o BN [6]
'Prov1de an example of 1nverse transformatron 1n homogeneous coordlnate .
o svstem PRI R I .- i [6] -
'D1scuss 1ssues related to polygon chppmg L 3_;- oereie o [4)

UNIT III
How is rmage space method d1fferent from ob]ect space rnethod‘? i . ‘. o _"_'[4]_' |
Drscuss propertles of Bezrer curves _' S A [8]
What are the issues related to h1dden surfaces‘7 : L [4] |
L e e OR e sl e
Illustrate depth buffer method w1th d1agrams ; L [8]

'Drscusspropertles ofB sphnecurves Lo R [8] _. |

" UNIT- IV

"Drscuss followmg color models - '5 L

[6E6024]

_Descnbe Phong shadmg R TR [4]



Q 4 (a) What are the vanous aspects of 111ummat10n of Ob_] ects ‘?15
(b) Descnbe Gourand shadmg

(c) What 1s HSV color modelr?

Q5 Writeshortnows onanytwo-

O
o (C) '_:_;:_:.'..Ammauon techmques

L (d) ':-;_'Multlmedla techmques o

. [6E6024] . . page3ofs . " [5700]







6E6025

Computer Science & Englneermg
6CSSA Embedded System De51gn

B Tech VI-Sem. (Mam/Back) Exam., Aprll/May-2016 |

TiiIIC:S_HO‘:irS | R o SR MammumMarkS° 80'
SIOPRSDR I\/Im Passmg Marks (Mam&Back) 26_

| -_:1n_s?ruc?iohs.to Candulates- R

- 'Attempt any f' ve questwns, selectmg one questzon from each umt All

e _3'Questwns carry equal marks Schemanc dlagrams must be shown

i __wherever necessary. Any data you feel mzssmg may suztably be assumed :

o _:and stated clearly T S
s 'Umts of quantmes used/ calculated must be stared clearly

= --S:Use of: followmg supportmg materlal lS permztted durmg exammatzon
' (Mentzoned in form No. 205) - -~ L

Q.1 (a)

(b)

Ql @

UNIT I

What is embedded system'? What are the hardware needs before des.1gnmg .an
embedded system? - o _' TR R A A '_[8_]-
What 1s the dlfference between an embedded system and a general computmg
system‘? L . | : o .. . 18]

What are programmable loglc dev1ces‘? Also explam ﬁeld programmable gate

- arrays and complete programmable loglc dev:lces P - DRI -__[8]

[6E6025]

page'lofs_ o R ERRR [6300] E



i

'Q.lz (2)

What are: the advantages of programmable loglc dev1ses over . fixed 1og1c '

dev1ces‘? S G B [8]

UNIT-II

Explam level trlggered and edge trlggered mterrupts Wluch one of these :

1nterrupts m generally recommended for mterrupt 31gnals that are very short or

verylong? a S

Q2 (@)
| .:‘_What operatlons are performed by CPU for solvmg shared data problems'? 8]

Q3 (a)

Q3 (a

" What ate 'i'ritéfrﬁﬁt' service 'rdiiﬁﬁég (ISRs) and how ISRs handle a intetrupt? ~ [8]

OR

What 1s context and Why context savmg occurs 111 a multltasklng system‘? 81 |

UN IT III
What is 'real-'ﬁme'opéraﬁhg system? Categorizeit, also write' down its benefits. [8]

Descnbe the various states of tasks with respect to RTOS Also explam the role

oft1merfunct10n1n RTOS | SR S ' B [8]

or.

Write short note on the following: -~ _ [8]

RE (1) ‘Scheduler

®)

®)

[6E6025]

(11) Reentrancy

| I—Iow inter task communication process is done by maﬂboxes and plpes’? [8]

UNIT'-"IV
Bneﬂy descrtbe the steps mvolved in embedded system dcvelopment - [8]

Explam the parameters of real ttme task Also enhst the types of task schedulmg

in RTOS. - e | | 8]
| . B Pagé2'0f3“.'--'. - I_ [6300]: -



Q.4 (a) Write short note (i.ﬂ.t#lt; fe',llpw_lin_g':.- - S : [8]
® ONX R o
(i) RTLINUX
(b) What is real timﬁ_l Sysfe@? Differentiate hard real time system and soft real time
sysfelﬁ. “ L :_' k .. ' - . .- | o . - 18]
UNIT UNIT-V o
| QS _. .(a). Explam. the procesa of software code development in embedded system [8] :
o '__(b'.) _ _Explam the versmn techmques by whlch the code in uploaded to target board. [8]. o
Q.5 Write short note on the fo]lowmgs - | o o | [16] -
(a) LOglC Analyzer - |
(b) In c_m:un Emulator (ICE)
(©) Monitor "
(@ Issues with traditional Em_ulation.
[6E6025] Page 3 of3 _ [6300]
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B Tech VI Sem. (Mam & Back) Exam., Apnl/May 2016
- Computer Science & Engineering =

6CS6 2A Art1fic1al Intelllgence

Time:3_Houps _ N MaXImumMarks. 30

Mm Passmg Marks (Mam & Back) 26

-_:_:Attempt any f" ive. questwns, selectmg one questwn from each unit. All

,Questtons carry equal marks Schematic. dmgrams must be  shown

wherever 1 necessary. Any data you feel mzssmg may smtably be assumed-
and stated clearly Ll S L

Umts of quam‘ltles used/ calculated must be stated clearly

Use of following suppon‘mg marenal is permnted durmg exammanon.
(Menttoned in form No 205) '

ol @

(b

[6E6027)

n UNITJ

Expla.m the productlon system w1th su1tab1e examples erte algorlthm for DFS

and BFS as control structure used is a productlon system Also glve advantages

erte a short note on Hlll chmbmg search strategy R B [6]

Page 1 0f 4~ . . [2730] =



ol @

| %

Enumerate classmal “Water Jug problem ' Describ'e the state space' fOI'thIS

| "problem Solve th1s problem by givmg 1ts operauon sequence R [Sl-

(b)

Q2 @

Q2 @)

What is art1f1c1al 1ntel]1gence‘? Expla.m A and Ao* algorithm in detail. 5. -'ﬁ;'::-n[8]
UNIT-I1

What is predicate logic? Differentiate propositional and predicate logic. [8]
What is knowledge representation? Explain its approaches and issues. 8]

OR

' Explam the Resoluuon prmmple by takmg su1table example Wnte the steps

g followedmtheresoluuon e [8]

(b)

Q3 (a)
(b)

%2 @)

Compare monolic and_monoto_ni_c_reasonj-ng_.- (8]

- UNIT- III

Explain the dlfference between backward & forward reasonmg - 18]
Explam Bayes’ th_eorem. Also give the suitable example. {81

Explam conceptual dependency Show a conceptual dependency of the followmg _

(b)

[6E6027] -

J ohn begged Mary fora penc1l

How does this representatioﬁ make it possible to answer the question?

Did John talk to Mary?

Explain the concept of script. Also give a suitable example. ' (6]

Page'2 0f4 - ‘ [2780]



UNIT-IV

In add1t10n to Alpha - Beta prumng what are the. mochficanon to the mmmax_-

Q4 @
procedure that can improve its performance? BT SRR - [8]
- (b C0n31der the followmg game tree m Wthh statlc scores. are all from the ﬁrst -
| player s pomt of views, r | o ) [8]'
Support the first player is the maximum player. What move should be ehos_en?
OR
Q4 (a) Explam vanous steps used in natural Ianguage processmg Also discuss in
detail. | . . | [101
(1) Syntactic processing
(i) . l‘Semar.ltic analysis
(b) Why does the search in game playing programs always proceed forward frem the

[6E6027]

current position rather than backward from a goal state? - = ':'[6]

Page 3 ofd © 2780}



o es (a)

UNIT-V

Explam expert system 111 detall w1th smtable example “Also explam its

Wnte a short note 011 Wmston Iearnmg program N _' o . : [8]

DISCHSS the smgle layer perceptron rnodel of neural network. What are the

Imutatron of th1s model ; ST R _ B _ 18]

= (b)

Explam explanatlon based learnmg by takmg sultable example - [8]

'-"'-Pag:te‘il;bf:?l-__:f. L | _ [278_'0]--.- s



6E6028
B Tecli !
G Computer Sc1ence R R B
6CS6 3A Human Computer Interface
Sl Common for IT 2

«6'E6028 ‘

.Tlme' 3 Hours i e Maxnnum Marks* 80 -

Instruct:ons to Candtdates - _l: .

Total No of Pages ]E e

’":Sem. (MalnlBack) Exam., Aprll/May-2016.'jlf:‘_ e o

Mm Passmg Marks (Mam & Back) 26'_' L -

_. :"._Z"'Attempt any f ive. questwns, selecnng one quesnon from each umt All S
RS a':Questwns carfjv equal “marks. Schematlc d;agranw must be shown EE
- wherever. necessary Any dam you feel mtssmg may suttably be assumed_-_" |

' o '_and stated clearly T ‘ o :
Umts of quannttes used/ calculated must be stated clearly

i Use of followmg supportmg materml is permztted durmg exammatlon o
:.'(Mentzoned in form No 205 ) R SRR

Q 1 (a) Demonstrate the Donald Norman 3 rnodel of mteractlon .: EREENESE _lS] = ‘

(b) State the causes and effects Of emot1ons g ._ [8] : .' : o .'

o L@

Explam the role of ergonomlcs m 1nteract10n between man and machme 5 __[S]f : '_ s . .

--'-'._'(b) Illustrate the element ofWIMP mterfaces 1n detall . [8] i o S




o

: eff1c1ent 1nterface

UNIT-II

Descrtbe the vartous de51gn processes and ba51c steps used m 1t _' ) ': _ [_8_]-

Explam how can you 1mplen1ent Shnelderman s elght golden rules to destgn an

- QZ (a) What are the des1gn prmclples of usabtllty Dtscuss the pnnc1ples effectmg

o '.leamablllty | _' : R - '[8].

o m

Suggest some effictent methods of des1gmng a Iayout : _': S 18] S

m_rr_m

'Explam the vanous factors effecung the selectton of evaluatton ' _:' Co '_ ['8]'

Q3 '(;i)”

i (b) '.What do you understand by query techmques‘? Explam the expenmental_

- evaluatlon s L .. R R [Sl

.'Q'.3:_ 'Explam the requnements of user support system and approaches for the same. _' [l6]_

) Q4 '_(.-a).. ..

] [6E6028]

UNIT IV

:D1scuss in detaﬂs the goals and task hlerarchles R :. B g i [12]

ExplamBNFmdetaJl B S M

_Explam the cogmttve complex1ty theory _ T : lS]

Suggestphyswal and dev1ce models ¥ j" S s

-'..-'-'-Pagezof.-_?f'f o ke



Q5 .(a) DlstlllgulSh .be.t_chh_tas_.k _anailysi.s' and (.’.thé_f-..'}cChniques,-_ S [8] S

() Brplain the face - 10 face commumication indetail. g

Q5 @ _V-.V._hat_ are So;itces_ of mformatlonand data Collectlon? ; RIRE S [8]

0) Wieshortnoteon: o=y

() ContextandDeixis o

___.7[5_E60_28]' O ) Page3ofs U e E 1
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B Tech VI-Sem (Back) Exam., Aprll/May-2016
Computer Science & Engmeermg Sy
6CS4 O) Programmmg in Java
S CS IT

)

o :_ Artempt any ftve questwns, selectmg one quesnon from each umt All o

Mm Passmg Marks (Back) 24_

i ...Questzons carry . equal “marks. " Schematic . dlagrams ‘must  be shown

_ “wherever necessary. Any data you feel mtssmg may smtably be assumed E L

" and stated clearly. -

. _Umz‘s of quantttzes used/ calculated must be szated clearly

1.NIL

: Use of following suppomng materzal ES permztted durmg exammatzon _ ::'
.-(Mentloned in form No 205) i S . _

Q.1 What is _d_ifferencem between - object i'dﬁentéd programming and ‘object based

‘programming language? . el

Q.1 "What dines Java its ‘write ané and run anyWhere’ ri_a_t11res?_' - o o _:'[1'6] o

UN IT II

Q.2 What is d1fference between states method and instance method by gwmg an

- example. - BRI L R e

[6E6094]
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P Q';:'_.?;:__-'-.;Define ‘Strmg buffer and ‘Strmg classes w1th an example

. Q2 What are control statement in J ava whﬂe explarnmg usage of ‘break’ statement;

UNIT III
i Q3 | What 1s dlfference between abstract class and an mterface'? o

LJ_NE:LY

S _:"'Q._ék_-'_;_Wnte down a skeleton of exceptlon handlmg mechamsm in J ava.

_.::-f:.Descnbe file streams in J ava whlle explammg sena]lzatlon .

UNIT-V

e ._ QS 'V-erte short notes on any followmg two '_ _

| (a)”__' Java Applet VIS Apphcauon
. o (b) 1 Process and Threads _
: o © Oveﬂoadmg and Overri d1ng
o (d) C]asspath and Packages '

e
e
e

(e}

[16]
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6E6095 g
B Tech VI-Sem. (Main & Back) Exam., Apr1]lMay-2016

Information Technology -
6IT5A Information Theory and Codmg

 6E6095-?1

Tinle: 3 Hours i Maxnmum Marks: 80
' o Min. Passmg Marks (Mam & Back) 26

| -'Inctructions to Candidates:- _
_ Attempt any ﬁve questwns, selectmg one questwn from each umt All
Questions carry equal marks. Schemanc d;agrams must be shown

- wherever necessary. Any data you feel mzssmg may su:tably be assumed
and stated clearly. '

Units.of quantities used/ calculated must be stated clearly

Use of following supportmg marerzal is permztted durmg exammanon
:__-_-_(Mentzoned in form No. 205) . :

UNIT-I

Ql (@) Two binary channel are connected is cascade as shown is f1gure below
X 09 oy 08z

(i) - Find the ones all channel matrix of the resulta.nt channcl and draw the

resultant equivalent channel diagram. SR [4] .
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(b)

(i) Find P (z1) and P (7) when P (x)) = P (x)= 0.5 M

Defme channel and also explam its types I : | . 8]
| LR e T OR
Q1 (@ D_eﬁne thefoudwiﬁg‘ T
(i)' Informatlon | R ' _. ) [2]
- (11) Entropy o . o B | o o 12
(i) Information Rate R : ' ‘ [2]
(iV) Joint entropy P 71
(b) A discrete source . units one of five symbols once every rmlhsecond with |
_'probablhtles 12, 1/4 .18, 1/16 and 1/16 respectwely Determme the  source
N :_'_entropyandmformatxonrate & e B €1
e S i UNIT II R
Q.2 (a) A DMS X has four symbols X1, X3, X3 ‘and X3 w1th P (xl) =172, P(x5) = % and
P(x3) = P(xy) = 1/8: Construct a shannon fano code for X; show that this code has
the optimum property that ni= L (x]) and the code effimency is 100 percent.  [8]
(b} Explain Lempel — Ziv algonthm w1th example. : 8]
Q.2 Determine the Huffman code for lthe foﬂowmg rﬁeSsage"wi'th their - [16]
o X -.X.3" SR VI | X5 X6 X7
0.05 0.15 - .02' - 005 015 03 0.1

and also find the average code word length entropy, code efficiency. Compare the

result with enfropy.
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Q,3_v @
- ®

Q3 (a

(b)

Q4 (a)

(b)
Q4 (a)

(b)

Q5 (@
(b)

[6E6095]

- UNIT-III
What do you mean by linear block code? Explam T ;_- e ' [4] 7

Given a (7, 4) linear block code whose generator matm{ is glven by .. ) - [12]
1o 1 0 0 1 1 1]
G .

o 0 1 0 1 1 0

0 0 01 01 1

(i) Find all the _gode words

(i) Find the parity check matrix.

OR

Differentiate between systematic and non-"systematic codes. Als'o g‘ivé,_ suitable

examples, - I B '. S (-
Explain the Repeated cddés"With-an?éxample.'“ SRR [8]
For systematic (7, 4) cychc code determine the generator matrix and parity
check matrix. : : o o [12] '
Given:G(P)=P3+P+l '

Write a short note on Galois field polynomial. [4]

OR
Give block diagram and explain the operat_ion of syndrome calculatbr for cyclic
codes. o I 3 R - - [8]
Design encoder and decoder for cyclic,cbdes with block diagram. 8]
UNIT-V

Explain the viterbi algorithm and seduential decoding of convolutional codes. [8]

What are code tree, code trellis and state diagram for convolutional encoders? [8]
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QS5 (a)

(b)

©

[6E6095]

L OR
Explain the difference. between convolutional ‘codes and:block codes with
Draw the state diagram, the tree diagram and trellis diégram.for _ﬂie convolutional

encoders of figure below. L L [5]

Find the free distances of this.convoluticonal code... .~ = .. ... .. [5]

Page 4 of 4" - [1860]



